MTH631:Quiz-2 Quiz Start Time: 09:59 AM, 18 February 2021

Question # 5 of 10 ( Start time: 09:59:29 AM, 18 February 2021 ) Total Marks: 1

A compact setin B" 1§ ---------- :

Select the correct option ® Reioad Math Equations

open and unbounded

O

l
|
|
|
[
[
] r
open and bounded }

closed and unbounded

closed and bounded




— I

MTHG631:Quiz-2 Quiz Start Time: 09:59 AM, 18 February 2021

Question # 7 of 10 { Start time: 10:00:13 AM, 18 February 2021 ) Total Marks: 1

In B", an open n - ball of radius » about X, is B, (X)) = {X : [X — Xy| < r}.then its closure is - - - - - - -,

Select the correct option

" o s
¢ Heload Math Equations

{X: 1 X-X|=r}

{X: I X -Xs| €7} l

{X: X -Xp| 27}

{(X: X -Xu| =7}

ojoJo]jo




MTH631:Quiz-2 Quiz Start Time: 09:59 AM, 18 February 2021

Question # 10 of 10 ( Start time: 10:01:14 AM, 18 February 2021 ) Total Marks: 1

In B2, the set {(:Ir,y]l 5 (:1?2 + 4% < a.) % (:r,z +y? > E}) a < E}} is a region.

Select the correct option ® Reioad Math Equations |

True

l
l
l
|
[
[
i

False




MTHG631:Quiz-2 Quiz Start Time: 09:59 AM, 18 February 2021

Question # 9 of 10 ( Start tme: 10:00:44 AM, 18 February 2021 ) Tatal Marks: 1

If B" is connected, such that 2" = AU Bwith AnB=AN B =&, then----- .

Select the correct option

- s
« Helood Math Egustions

A and B are both open and closed

Either A=R",B=¢dorB=R", A =¢

All above can be concluded

ol o olo
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MTHG631:Quiz-2 Quiz Start Time: 09:40 AM, 18 February 2021

Question # 7 of 10 ( Start time: 09:44:01 AM, 18 February 2021 Total Marks: 1

Limit points of set § = {{x,¥) : —n < z, ¥ < o, (x,y) # (0,0),n = H} nR*, — — —,

P Select the correct option B Reload Math Equations

{(0,00} U {{z,v) : 2,y = =n,n & N}

{(0,0)} S

{{0,M}u{{z,p):z,y=tn,me N}US

{{z,9) iz, y=Fn,neN}uUS

ojoJo]jo




MTH631:Quiz-2 Quiz Start Time: 09:40 AM, 18 February 2021

Question # 6 of 10 ( Start time: 09:43:25 AM, 18 February 2021 ) Total Marks: 1

If lim f(X) exists, thenitis ;
X—=Xp

Select the correct option @ Reioad Math Equations

O

unique

|
l
l
l
|
|
r

none of these




Question # 4 of 10 ( Start time: 09:42:19 AM, 18 February 2021 ) Total Marks: 1

Closure of theset {(z,y) : —n < @, v < n, (2, ¥) # (0,0),n € N} mR®,is — — — —

Select the correct option -

* Relond Math Egusfions

{{x,¥): n<z,y<nneN}

{(z.9): ~n< z,y<nnech}

= e m m — e — —

{{z,p) : (z,y) # (0,00}

ojo]o

{{z.y) : z,y < n,(z,y) # (0,0),n = N}

Cliefo Saba Arlaer £ 100 4 Mot fhjaiign



Questlon # 3 of 10 ( Start time: 09:41:27 AM, 18 February 2021 ) Tatal Marks: 1

Exterior of the set {{z,4): —n <,y <n,(ey) £(0,0),nec N} mnRB* is— — — —

Select the correct option

% Reload Math Equations

{I{.‘r,y]l e8|z <nly >n,ne H}

{{x,4) € B%||z| > n,lyl < n,ncH)

o e b e

{[z,¥) € R®||z| > n, |y > n,n € N}

I“O“O

{{z,4) € B%||z] < n, |yl <mn,n e N}

Click to Save Answer & Move to Naxt Question







TR0 FP-D | iRl -

SALPLE SDNER R ROrrmE

Question # 2 of 10 { Start tinne: 09:04:48 AM, 18 February 2021 )

WL MU, 1D TERNUETY SuWaE

Select the correct option

Limit points ofset § = {{z,9): - <z, ¥y < n,(z,9) #(0,0),n € H} in R e

= Reload Math Equations

{(0,0)} U {{z.¥) : =,y = £n,n € N}

{{0,m}u 8

[{(0.0)} U {(z.0) :z.y=Etn,mnEM} LS

[(z.9): z,y=2dnncH}US




MTHG631:Quiz-2 Quiz Start Time: 09:40 AM, 18 February 2021

Question # 2 of 10 ( Start time: 09:40:30 AM, 18 February 2021) Total Marks: 1

Which of the following non - empty subset on Heal line K is taken as requon ?

Select the correct option

% Reload Math Equstions

Natural numbers ™

Intervals (open, closed, semi open or closed) l

Rationals O or Irrationals ©° I

Range of pointwise or uniform real valued convergent sequences






















Ouiz Start Time: 0927 P

Ounr-3

9 4 of 10 ( Siart timeo: 09:40:07 PM, 17 February 2021 )

— il —

— = —

Exterior of the sot {(z, y) i r.y<nlzy #U0),n0i '|:| in =18

carrect oplion

{'IJ'-.'H .'-'r"' T n, |y vy 71,70 & 'Iljl'

l{!.r__|,r.|- R*| |= n,(y >nne II}

-

{ (2, ) ¢



MTHER Quiz-2 Quitr Start Time: O

""ﬂr“I'-I'-IﬂIHhIHH.qIWWIF*.qul'1"-'- It o 0 o g O T Rl R e B N P e &b B R S e — -

Question £ 3 of 10 { Stact time: 09.19:20 PM 17 February 2021 )
lmnfpuﬂm{x?}hﬂ" corwerges if and only If for each there in an ireger K such that ifr,s =2 K.

e T T p—









irt time: 09:31:56 PM, 17 February 2021 ) Total M.

Closure of the set {(z,y): —n < z,y <n,(z,y) # (0,0),n e N} in B is — — — —.

" * Reload Math Equs

{{z,y): —m < z,y < n,n € M}

{[:E!y} : —ﬂﬂ I,yﬂﬂ,ﬂEN}

{(z.y) : (z,y) # (0,0)}

{(z,y) : z,y < n,(z,y) # (0,0),n € N}




Interior of the set {(z,y): —n < z,y < n,(z,y) # (0,0),n € N} inB2,is — — — —.

% Reload Math Ec

{(z,y) € B?||z| < m,|y| > n,n c N}

{(z,y) € B?||z| > n, |y| < n,n € N}

{(z,y) € B?||z| > n, |y| > n,n € N}

{(z,y) € B?||z| < m,|y| < n,n € B}




Question # 9 of 10 { Start time: 09:31:00 PM, 17 February 2021 )

If H is an open covering of a compact subset 5, then 5 can be covered by many sets from H .

Select the correct option

finitely

O

infinitely
both a and b
non of these




1 L} L} . i
- & ) ] - I '] ¥ 1 | 1 -8
- il : & . .I .-. i I- . 5 1
E ¥ - N - J
L wly 8 - . TR S 2 5
- A - . = . F
1 - E . e F -
T = | —— '_. I 2 i nE i vl
i L i A = 5
e | I




Question # 9 of 10 ( Start time: 09:29:43 PM, 17 February 2
The space R" is

Select the correct option

| | connected

| |

)2

'I

|
not connected

O

| .

= e e s T
'bothaandb

L)
{T___. none D;l:ﬁe_-_-_____ ROV o

g - '."':.r—.';"*ll
ARy A




Question # 7 of 10 { Start time: 09:29:19 PM, 17 February 2021) Total Marks

A set “S " is polygonally connected if, -—-- pair of points in
S can be connected by a polygonal path lying ——in“S".

Select the correct option

some, entirely

O

every, entirely

some, partially

'every, partially
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Cueston # 7 ol I{'.l{ Start bme: D928:21 PM, 17 February 2021 _] 1
I'he function [ (x, y) “‘f..— s detined everywherein . axcept al

e

.l-\.
aall

Select the comect oplion

Ji."l_ II, il

O

. (] 1,0]

O

R*. (0.0)

O

| | none of these




10 ( Start time: 09:28:33 PM, 17 February 2021 ) Total Marl

In B", which of the following is true about ¢ = {} and A = {(a1,a2,...,a,),a; EE,1 < ¢ € n,i € H}?

=ct option = Reload Math Equatic

¢ is Disconnected and A is Connected

¢ is Connected and A is Disconnected

Both are Connected

Both are Disconnected




Question # 5 of 10 ( Start time: 09:27:50 PM, 17 February 2021)

An open disc: {[:,y}::2+y3{1} 1 kT .

Select the correct option

[ diconnected

O

I disconnected polygonally

| connected polygonally

none of these,




1estion # 5 ol 10 ( Srart time: 09:27:09 PM. 17 Fel

ebruary 2021 )
e ——

_Boundary of the set iz, y):

n<z,y<n,(z,y)#(0,0).neN

elect the corect option




1 & 4 of 10 { Start time: 09:27:04 PM, 17 February 2021 ) Total Marl

In B", if the line segment: X = tX,; + (1 —#) X3, 0 < ¢ < 1, joining X; and X; liesin 5. {Xy) ,then — — — —.

1e correct option 2 Reload Math Equatic

|I_Iﬂ|{5

X —Xp| <1-—¢

| X —Ap| <t

(=il | =t




{.'l}!:ﬁ'liun#fluf 10 ( Stant time: 09:26:31 PM, 17 February 2021 ) lotal Marks: 1

“ !f |*-._.m-:;u:r1: VENIIND 01 & =TS '-~.|j.|.----r ."'n'_r'u-n.'-[ Can b cowsn 'jI-..,.l Ay 2l fIrom f_f

Select the corect option

< BT %

Math Equatio

|| firits |'!.

|r'-|'|r||1g-'.|,-

i both aand b

e 4

“r‘muflh&&a
™
__. — e — e = -




jestion # 2 of 10 ( Start time: 09:25:16 PM, 17 February 2021 ) Total Marks: 1

Set of isolated point(s) of the complement of set {(z,y): —n < z,y < n,(z,y) # (0,0),n € B} in R* is — — — —,

lect the correct option % Reload Math Equations
o {(z.9) € B 12 =y =In],n e N} U {(0,0))

o {(0,0))

0 {[z,y]l-EIP-.E::::y:|n|,n-:—:ﬁ}"|{{ﬂ1ﬂ]}

o ((r,y) €B*:2=y=|n|,nen)










ion

Limit points of set § = {(z,y): —n < z,y <mn, (z,y) # (0,0),n € N} inR*, — — ——,

o Reload Ma

{l:[}'l{]}} L {{I:y} Py =Inn e I:;::I}

{(0,0)yU S

{{0,0)}u{(z,y) iz, y=tn,neN}US

H{z,y):z,y=En,nec N}US

Click to Save Answer & Maove to Mext Oue:



Question & B of 10 ( Start time: 06:14:28 PM, 26 February 2021 ) Total Marks: 1

In R", a function f is differentinble at Xo, < 3 a linear function L in a way that f{X) - f(Xs) can be
approximated near Xy by L satisfying;

et e et
-D L(X-X;)=LX -LX,
G L{XXp) = (LX) (LX)
X LX .
{:} MNone of the above

o i Et =
Ohick 1o Sous Anwser B Movs o Mozt Fusaiksn
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MTHG&31 :Quiz-3 Quiz Start Time: 06:08 PM, 26 February 2021

Question & 9 of 10 ( Start time: 06:15:03 PM, 26 February 2021 ) Total Marks: 1

In B*, monotonicity, limits inferior and superior of sequences, and
divergence to + o0 are undefined forn > 1 becanse B  i5----——-- ;

Select the correct option = Raload Math Equations

complete

a Field

not ordered forn = 1

not compact forn = 1

s e T e e ST e g el | == =
MErkiranus drpaar 2 o=t e Mo F. 0 ssd s



Question # 6 of 10 { Start time: 06:13:48 PM, 26 February 2021 ) Total Marks: 1

Suppose 1mn [EE, f. fr. fy and fry eoost on neighborhood & of (zo, yn) . Then fie (20, w0) eoasts, and
Fyr (xo,0) = fry (zo,w0) because if feyiB----.

SeNCEIn oy Tpion = Reload Math Equations

bounded

O
continuous

O
differntiable

O
partially differentiable

O

Diick toSave Anawer B Mous to Next Guestion

— e wm . = = '




MTHG631:Quiz-3 Quiz Start Time: 06:10 PM, 26 February 2021

Question # 2 of 10 ( Start time: 06:11:26 PM, 26 February 2021 ) Total Marks: 1

If f is continuous on a compact set §in R", then f — — — — on 8.

Select the correct option 2 Reload Math Eguations

gttains all itz bounds

iz alao uniformiby continucus

iz also definred on all the limit points of °5%°

O

All abowve are equally valid

O

Ofick 1o Save Answar B Move ta News Guestian



Question # 9 of 10 ( Start time: 06:05:42 PM, 26 February 2021 ) Total Marks: 7
A sufficient condition for a function of several vanables to be differentiable at point is

Select the correct option = Reload Math Equations

E onty the pariial derivative should exists at that point

O

I
Al partial derivatives exists and are continuous at that point
I

only limit at that paint should exists,

' None of these

Chick o Save Answer & Move 1o Mext Question



MTH631:Quiz-3 Quiz Start Time: 06:01 PM, 26 February 2021

Question £ 3 of 10 { Start time: 06:02:18 PM, 26 February 2021 ) Total Marks: 1

sin /T -7 - 37
i )= ah) 'h--l. .-;-'I ﬂg]

Select the correct option = Raload Math Equations

L f-eee- -

o | (a® + 25%) > 1
o (a? +287) < 1
o (@ +2') =1
0 (a% +26%) > 1

(PN  E L e SHEER o i e = L T & —
PRey in S s & n s ee 55 s i e W F O s s



MTHE31:Quiz-3 Quiz Start Time: 06:01 PM, 26 February 2021

Question # 4 of 10 ( Start time: 06:03:04 PM, 26 February 2021 ) Total Marks: 1

s

InR2, f(X) = |X? and & = (i_i) i ) =
1,-"2 l|,_-"2

SUP—

iy + L

O 2

ﬂ £+ I3

*

Iy + Iy

O ]

G v2{z; +x1)

Hoketor Brum Arine B Mot (o Megt [l jma lor
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MTHB631 Quiz-3 Quiz Start Time: 06:01 PM, 26 February 20217

Question & B of 10 { Start time: 06:05:07 PM, 26 February 2021 ) Total Marks: 7

Let f be defined and continuous on a region S in R". Suppose that X; and Xy arein Sand f(X,) < Y < [f(Xa).

Then f(X) =Y
SST——
' for some
iﬁ:l-rﬂH




Question # 1 of 10 { Start time: 06:01:18 PM, 26 February 2021 ) Total Marks: 1

mp?2  §m Y
(3] - (3,2 yE-¥

ket the et o

Lo ]

O
1

O
vz

O
0

O
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MTH631:Quiz-3 Quiz Start Time: 05:41 PM, 26 February 2021

Question # 10 of 10 { Start time: 05:52:21 PM, 26 February 2021 ) Total Marks: 1

How many third order partial derivatives of g(r,y) = ry + z" ys exist in B*7

Select the correct option 2 Reload Math Eguations

T
N
N
T

-

Elick 1o Save Answer & Move to Newd Queation



Question # 10 of 10 ( Start time: 06:53:24 PM, 26 February 2021 ) Total Marks: 1

Thadumainufthema]valnedfm:tiun_f:ﬂz — [ defined and given by;

fIX) = - T — of the region by the ellipse 2* + 248 = 1.

Select the correct option

2 Reload Math Equations

interior

interior and boundary

axterior

exterior and boundary




MTHG&31 :Quiz-3 Quiz Start Time: 05:46 PM, 26 February 2021

Question # 5 of 10 { Start time: 05:50:04 PM, 26 February 2021 ) Total Marks: 1

If a finction f is conftnuows on a compoct set §in B", and & = Hf{ﬂr_.ﬂ: sup f[X] .
E XeS

then f (X)) =aand f(X3) = - — — — — Xyand Xom 5.

Select the correct option

“ Reload Math Equations

| for all

O

| for some

Click o Suve Answes & Move t0 Mext Quasiion




il Bl el iR BF N A TR R ﬁ Tl TE T B BRI s T el e et T8 IIII L I—IJI_II e Cun ol  § r

 Identify the faise statement|s)

Select the cormect option

The parkal derivative i3 a special case of deachanal denvative

O

Far a functions of n venables

O fiX)

the partial derivative with respect to variable

|| e partial derrvative of the function
- flz.wa) =deyz + 2 + £
with respect to third vamable is

Mone af theza




Question # 8 of 10 { Start time: 05:52:15 PM, 26 February 2021 ) Total Marks: 1

1 i
Iﬂ.ﬂ.ﬂi f{I}:ﬁ,ﬂﬂdﬂnf{ﬂ=m1 then f{..ﬂ = M=0 = ﬂ-:lI—I,,|~::J=____L
- X, b

Select the correct option

= Reload Math Equations




MTH&31:Quiz-3 Quiz Start Time: 05:46 PM, 26 February 2021

Question # 4 of 10 { Start time: 05:49:36 PM, 26 February 2021 ) Total Marks: 1

InR", & = —og, if
P o,

Select the correct option

= Reload Math Equations

lim f(—X)=noo

0 XX

O _&n{—mx‘l = oo

Jim £(X) =2

lim f(X) =




L s
MTH&31:Quiz-2 Quiz Start Time: 05:46 PM, 26 February 2021

Question # 3 of 10 ( Start time: 05:49:04 PM, 26 February 2021 ) Total Marks: 1

In ", monotonicity, imits inferior and saperior of sequences, and
divergence to + oo are undefined forn > 1 because B" i5- - - - - - —- ?

Select the correct option

2 Refoad Math Equations

complete

a Field

not ordered form = 1

not compact for n > 1




MTHA3 1 Quiz-3 Quiz Start Time: 05-07 PM, 26 February 2021

Question # 10 of 10 { Start tree. 05:13.08 PM, 26 Febraary 2021 ) Total Marks: 1

1R, functich fis Sffaentiabie xt Xp, e 3o Hosar fanction T i s, way that F1X) - F(Xp) exn be
approxmated near Xy by L stisfving L(X + Xg) = EX = LXgsuch that
X)) = Fi&o) = L1X - Xy) + E(X X — Xyl) and Jm E(X) - - - -

— ey

ek kil Saea i s & Warort i Keeat Gueratlef



Question # B of 10 { Sl time 0512 19 PM. 26 Felvuaiy 2021 ) Total Marks: 1

arm f

'r|—|-l_l
i

1. ]

S o

L

1}
If g{x, ) = fl—r’—zu’, i) = g ¢

{(=y): =" -2 1}

O H {(mw): 2* — 2" 21}

] Rl il O ememas k Feugpdni [Tier 0 ool o=
[ Ia :.ll:ll':l-.-. ! |f|__ B ::r-I g |r pESEE .II..l.:




MTHEI Quiz-3 Duiz Start Time: 0507 0, 26 Februany 2021

Question # 3 of 10 { Svart time: 05 0864 PR, 20 February 2021 ) Total Marks: 1

A set A C R of real numbers is if there exists a
real number m € R, such that
X = m for every x € A.

Sadect tha cormect option

‘bounded below
0

uniformly continuous
O

:buunded above
O

:Nune of these
)




Question # 5 of 10 { Start time: 05:10:10 PM, 26 February 2021 )

Analogous to the derivative of a function of one variable in B*, the directional derivative of a function

Fat X in B® has - - - - - - value{s).
Select the correct option m
miuftiple
O
| infinite many
O
unigue
O
integrad
O

Chok Ao Sove Answer & Move 10 Nes
kb - II | Pl el 3



tion & 7 of 10 { Start time: 05:17:29 PM, 26 February 2021 )

If a function f is continuous on a compaet set 5 in B", and o = i_qgfl[:'f]-. A= a;u%f[.’.’]' ?

then (X)) =nn.mif{:1f!} = - = ——=Xj de;i:uS.
1 the correct option
I for alf I
)
for some

e PR T P r_r lI|' AEWAY * Wb Lk Mo

- ———— e —— O e B— e B— e . e —



Questicn # 10 of 10 { Start time: 05:07:14 PM, 26 February 2021 ) Total Marks: 1

sin /1 — 27 — 37
Ly ey <]

o ...I .-.-.!
In®*, f(x,p) vi-= -3
1 : d 9::1 1

Select the correct option

= Reload Math Equations

contimuous

O

discontinuous

|
-
9
]
4

I':_Ir_'. e .' "... |': II



Question # 9 of 10 ( Start time: 05:06:37 PM, 26 February 2021 ) Total Marks: 1

ImB, f(X)= X} and & = (—f_-i_) e L)

Select the correct option

¥ Reload Math Equations

I —+ ¥q

Ay -+ @7

Ty + ITq

V2 (z1 + x2)

sl e o A



SJUBRFLILAL W O WFL W ] L] L NEDT R WU O I, R PR EEl Y LS ) PRridl Fidiss. |

If a function f is continuous on a Compact set S m B, then fis - - ------ on 5.
Salect the correct option = Raload Math Equations
bounded above
| bounded below
El
unbounded
bounded




e i T e o m— i w —

— t =0
fo(r.w) = 12" -2, f(t) = g

Select the correct option

= Reload Math Equations

E
O
o) “
G {{r.y}::l—ﬂy!}l}

0 {{z.w): 2" — 2" < 1}




estion # 5 of 10 ( Start time: 05:05:02 PM, 26 February 2021 ) Total M

In B, if the first order partial derivative of a function f{X) exits at X,
then it is essentially continuous at X;.

lect the correct option

= Reload Math Equ

True

False

Click 1o'Save Anawer & Move to Next Quaation



Question # 7 of 10 { Start time: 05:04:52 PM, 26 February 2021 ) Tatal Marks: 1

In B, the fanction f{X) is continuons at X, if t_lin% f{X)= f(Xp), then------ -
e B |

Select the correct option & Rsload Math Equations

Xy is in the domian Dy and limit point of Dy

Xy 15 In the domian Dy but not a limit point of Dy

O
O

Xy s not in the domian Dy but a limit point of Dy

O

neither Xy is in the domian Dy nor the limit point of L1

r_::.-__:' e R=cr il T P AR ol I e e [Tt |[a]3



Question # 5 of 10 ( Start thme: 05:03:31 PM, 26 February 2021 ) Total Marks: 1

Amnalogous to the denivative of a function of one vanable 1n R‘?, the directional derzvative of a function
fat XyinR" has------ value(s).

Select the correct option 2 Raload Math Equations

multiple

e -

infinite many

unigque

| integral




ption

In B", monotonicity, limits inferior and superior of sequences, and
divergence to =+ oo are undefined forn > 1 because B" 15-------- :

complete

a Field

not ordered for n > 1

not compact forn = 1

1-



Question # 4 of 10 ( Start time: 05:02:49 PM, 26 February 2021 ) Total Marks: 1

A sufficient condition for a function of several variables to be differentiable at point is

Select the correct option

2 Reload Math Equations

I only the partial derrvative should exists at that point.

O

= — — — —

All partial derivatives exists and are continuous at that point

only limit at that point should exists.

Mone of thess




Question # 1 of 10 ( Start time: 05:00:10 PM, 26 February 2021 ) Total Marks: 1

Let fhe defined on an interval I in B®. Suppose that x; and x, arein and[{xlll <y < _,F{xl ]

Then fix) = ¥ for some x in L

Salect the correct option

2 Reload Math Equations

False

True




Question # 2 of 10 ( Start time: 05:01:01 PM, 26 February 2021 ) Total Marks: 1

R )= m(m) Wer T =

[X] 20

Select the correct option

¥ Reload Math Equations

O

0
Gi
I—i

O

infinite

O

o -
k10 Save Answer B Move-to Next fiL=stior
et Bl e r e T T Y ] s ' ] e e




Question # 3 of 10 { Start ime: 05:01:42 PM, 26 February 2021 ) Total Marks: 1

The domain of the real valued fumction f : " — R defined and given by;

fFiXy=(1—-a? - — o —28) " im-omm- :
Select the correct option & Asload Math Equations
[X]1X] =1)
{ XX #£1}




MTHE61 :Quiz- 3 Chax Start Time: 04 &1 P8, 26 February 2027

Question £ B of 10 | Starr time 0454 £7 PM 246 Fabraary 2021 ) Total Marks |
Igemify the {alss smtemantic)

Select tha cormect option

The pariial derivative = a8 specasl case ol directional der aive

For a functicne of m variasbles

O fiX)

the partial dersrative with respect 10 vanable

The partiad detivative of the function

£ flz, . 2) = Jege + 2% 4 1°
with respect 1o third vanalsle s
Ko of Mess

e e e L e e A o



Question £ 10 of 10 { Start s 04 58 31 PM. 26 Febraary 2021 ) Total Marks: |

sin /T—2 - I
e

| B P it =1

.+t el

InB&, fl=p) =

Sedect tha cormect option

i e s J Ty S




Question £ 5 of 10 [ Star time 04 54 40 BW 26 Fabruary 70210 ) Total Marks: |

sk f
_H'J.:Eu

1, fe=l'

Hgir g) = \-'"-1 -t =2y, Jit) =

Select the correct optien

O {(=.9): =" - " 21}

0 {(2.w): 2" — 2" €1}

Pl 3 R e e E At o
e e T i i il S N S — I |



Question # 7 of 10 { Start time: 045808 PM, 26 Febmany 2021 ) Total Marks 1

If fis continunous on a compact ==t S R", then f — — — —an §,

o E=rm

BEtamE pll A bowunds
O

is aluo uniformiy contnuous
O

iz alsp defined an all the lirmit peints of “5°
O

All stree e sgually vk

a2 ¥

Moy b s 1t



MTHGI Caiz-3 (haz Start Time: 04 &1 P, 26 February 2021

Questian & 9 of 10 { Stam time 0457 28 PW. 26 Fabruary 20321 ) Total Marks: |

If & function f is continuows on & compect sot S im B, and o = ;:_l:_li_.lr{.'t:'ll,..'I=|l_|;|1n_H..'l.':|-1
i &3
then J(X;) —ansd f[X3) =8 — — ——— X; and X3 in 5.
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MTH631 Quiz-J (haz Start Time: 04 51 P8, 26 February 2021

Question £ 4 of 10 ( Starm time 04 53 68 P 26 Fabruary 2021 ) Total Marks: |

sinfx — ¥)

gt 1T} ‘."I' - i

Mo =

In B2,

B e et B e bt e At










P T i i

Uil il =y
i = ! | | co— = o |

i AR S g R

| ———————

(P +2%) > 1

(a® +20°) <1

§ L]
i - 1 s
S b e
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®5 0010 ( Start time 05 56 15 PM.

76 Febiumy 2021 )
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